
Corrigé type 
TEC 2  

Task  1 :   

1 - The different  features of life  2 PTS  

2- the five kingdoms 1 ,25pts 

3- Types of adaptation  0,75 

Task 2 : find the mistake then correct it  2 PTS 

- True – true –true – false –true – true – false – true  

-   

Task  3 : 1,25 PTS 

- The different  levels of organisation  of the nervous system  

 

 

Task  4 : 1 ,25 PTS 

- The five structures of scientific text  

The concept of modals  1 ,5 PTS 

 

- Educated expression Offer 
- Unreal Ability 

- Past Ability 

- Permission 

- Permission 

-  

Task 5 : 5 PTS 

The summary  

 Task 6 : 5 PTS 

The translation  

 


